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EWEENEI - Angle Pairs and Classifying Polygons

Use the diagram below for #1-3. Find the measure of each angle.

Use the diagram at the right. Is each statement true? Explain.
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1. Z2 and Z5 are adjacent angles. < f‘l
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2. /1 and £4 are vertical angles.
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3. Z4and /5 are complementary.
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Name an angle or angles in the diagram described be each of the following.

4. complementary to ZBOC  / B4

5. supplementary to ZDOB /. 5% B / /D0 c X»D
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6. adjacent and supplementary to LAOC 0
i} pp ’ ry Fa poc 3 2
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Use the diagram below for #7 and 8. Solve for x.
Find the angle measures.
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7. mZAOB=4x—1; mZBOC =2x +15; mZAOC = 8x + 8 0 A
(Ax-1) + 5) =
%-1) (Z')-'//) Fxt8 mlAo = [|°
bxtty=x 15 mLboC =2)°
6 =Ix mLAOC 232"
Scx

8. msZCOD = 8x+13; m£BOC =3x — 10; m£BOD = 12x — 6
(Sxts) +H(Bx-10) =/2x-4 mlcop = 85°
Wxt3=12x-4 mlgoc =17’
9=y mL.gop = oL




9. /ABC and ZEBF are a pair of vertical angles; mZABC = 3x + 8 and m/EBF = 2x + 48. What are
mZABC and mZEBF?
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For #10-13, can you make each conclusion from the information in the diagram?

10. 23224 Ay 1. £2= /4
Yes
5/1
12. mZ1 + ms5 =mZ3 13. mz£3 =90 4 3 2
Yes h[z)

14. KM bisects ZJKL. If m/JKM = 86, what is m£JKL?
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For #15-18, can you make each conclusion from the information in the diagram below?

15. ZDAB and £CDB are congruent.

Yes. y

16. ZADB and ZCDB are complementary. LPM s ¢ h £ 475 -~ Bl >

Yes svag = LB
17. ZADB and ZCDB are congruent. . LB /S Cﬂ‘?ﬂ- o Mﬂﬁ

Ne .

18. ZADB and ZBCD are congruent.
)/a . (Similar Ho #/L)

19. /MLN and ZJLK are complementary, m/MLN =7x — 1, and mZJLK = 4x + 3.

a. Solve for x. (71‘_/)-,‘ (%‘/5) ’70
Wi +2 = 720
/iy =58
x= g
miMLA) =55 " mlIKL 235
c. Show how you can check your answer.

55 £35 =20

b. Find mZMLN and mZ£JKL.



20. Describe all the situations in which the following statements are true.

a. Two vertical angles are also complementary.

b. A linear pair is also supplementary.

ﬁ// 5t va 7;571 3.

State if the following are true or false. If false, sketch a counterexample.

21. For every line there is exactly one midpoint.

Tree.

23. Iftwo different lines intersect, then they
intersect at one and only one point.

Tve

25. In a plane, there is exactly one line
perpendicular to a given line through a given

point on the given line.

Trve

27. In every triangle, there is exactly one right

angle.
False

29. It is possible for two triangles to intersect in one
point, two points, three points, four points, five

points, or six points, but not exactly seven
points.
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22. For every angle, there is exactly one angle

bisector.

Zrove.

24. There is one and only one line perpendicular to a

given line through a given point on the given
line.

Falsc
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26. There is exactly one line perpendicular to a

given line through a given point not on the
given line.

7rve

28. Through a given point not on a given line there

is one and only one line that can be constructed
parallel to the given line.

T7ve.

S
e =

» 4 &
@b



For the following, sketch and carefully label the figure described.

30. PE perpendicularto AR 31. Vertical angles 4BC and
DBE
A
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32. Pentagon PENTA with PE=EN. 33. Supplementary angles
é ZRAT and /TAN
?
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34. Hexagon NGAXEH with ZHEX ~ /EXA 35. ‘ZBK, C‘_D', and EF with Zé“ CD and
CD L EF .
N e Te
<o —->>
A 8

B A 1l o>
éﬁ’\bp P

2 X
36. Equiangular quadrilateral QUAD with
QU = QD.
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